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Fluid Mechanics
Exercise 1
                    Assumes the following: Gravitational acceleration, g = 9.81 m/s2 and 
Mass density of water, ρ = 1000 kg/m3
1. If 5.6m3 of oil weighs 46 800 N, what is the mass density in kg/m3?
2. What is the relative density of the oil in question 1?
 3. Determine the absolute pressure in Pa at a depth of 6m below the free surface of a tank of water when a barometer reads 760mm mercury (relative density 13.57) ?
4. Determine the pressure in bar at a depth of 10m in oil of relative density 0.750. ?
5. What depth of oil (in m), relative density 0.75, will give a gauge pressure of 275000 Pa ?

6. Express the pressure head of 15m of water in metres of oil of relative density 0.75 ?

